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Group-A
  (Multiple Choice Type Question) 1 x 15=15

1.     Choose the correct alternative from the following :

(i)  Select which of the following is not based on all the observations?
a)  Mean b)  Median
c)  Mode d)  None of these

(ii) Select from following: The number of accidents in a city during 2010 is
a) Discrete variable b) Continuous variable
c) Qualitative variable d) Constant

(iii) A perfect negative correlation is explained by
a)  0 b)  +1
c)  -1 d) none of these

(iv)  Largest value is 60 and smallest value is 40 and number of classes desired is 5 then, select the class interval as
a)   20  b)   4 
c)   25  d)   15 

(v) The first moment about mean is always identified as
a)   0  b)   1 
c)   Negative  d)   None of these 

(vi) The Coefficient of Correlation between X and X is explained by
a) -1 to +1 b) +1
c) -1 d) none of these

(vii) Determine from following: Two regression lines are parallel to each other if their slope is
a) Different b) Same
c) Negative d) None of these

(viii) The degree of peakedness is identified as
a) Dispersion b) Skewness
c) Symmetry d) Kurtosis

(ix)  The weights of students in a college/ school is recognized as
a)   Discrete Variable  b)   Continuous variable 
c)  Qualitative variable d)  None of these

(x) A time series is predicted as 
a) Short-term variations   b)  Long-term variations  
c) Irregular variations   d) All of these 

(xi) Subset of selected population is recalled as 
a)  descriptive portion b)  elementary portion
c)  inferential portion d)   Sample 

(xii) If the standard deviation of the values 2, 4, 6, 8 is 2.58, then the standard deviation of the values 4, 6, 8, 10 is examined as
a)   0  b)   2.58 
c)   5  d)   4.66 

(xiii) Choose from the following: Var(2X+3)=?
a) 2Var(X) b) 4Var(X)
c) 2Var(X)+3 d) None of these

(xiv)

a) independent b) mutually exhaustive
c) mutually exclusive d) none of these
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(xv) An index number illustrated for a single commodity is called 
a) Composite Index   b) Simple Index 
c) Index  d) None of these 

Group-B
  (Short Answer Type Questions) 3 x 5=15

2.  Describe with suitable examples the use of statistical methods in business.

 

(3) 

3.

 

(3) 

4. Establish that the correlation coefficient does not depend on the origin or scale of the observations.

 

(3) 

5. Describe the various components of time series.

 

(3) 

6.

 

 

(3) 

OR
 

 

(3) 

Group-C
  (Long Answer Type Questions) 5 x 6=30

7. The students obtained the following marks in mathematics and statistics. Calculate the rank correlation coefficient

Marks in
Mathematics

78 36 98 25 75 82 90 62 65 39

Marks in
Statistics

84 51 91 60 68 62 86 58 53 47

 

(5) 

8. A fair coin is tossed 3 times in succession. Show that the events ‘first toss gives a head’ and ‘second toss gives a head’ are independent. (5) 

9. Describe the two types of ‘Ogive’ with figures and examples  (5) 

10.  Find the mean and the standard deviation of the first n natural numbers. (5) 

Page 2 of 3



11.

 

(5) 

12.

 

(5) 

OR
  (5) 

****************************************
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